SHINSEI

H BN ZIE

AUTOMATIC SHUT-OFF UNIT FOR OPERATOR

EMY-242

A-808

=l =

Madel

A—808

EMY —242

A—921A(K)

£ 8 5 =

Operating system

BEFE) - B CERT

Power-on start, self-stop type

&S

Resetting system

FHERE

Manual reset

BEEFEV—7

Irhouse evaluation mark

ERFTAES
Parmit No,

€02 T

C—02-9

C—14-1

E % E

Rated supply voltage

DC24V

HE(EBEE

Min. operating voltage

DC18V

TL—+8ih

Brake release force

35N

58.8N

60N

BRES

Singnal confirmation

DC24V lal¥s

la contact

i A B A

Applicable

(E—# i)

(mator output)

0.075~0.4kW

0.75kW

0.4~0.75kW

BRFHHEEE
Aogicatie handwpratig. sut-off it

HF U —X

HF series

Explosion class

Bh 8 MFEEM
ﬁ._

R 1~ 2

Flame-proof type

g§%X§

lgrition category

Gl1~G4

i = 1. EMY-242(2(£1.5kW - 22kWEHH U FE T,

Notes:

1. The EMY-242 is also available in 1.5 kW and 2.2 kW types.




?Eﬂﬁﬁiﬁ%% SHINSEI

HAMND-OPERATING SHUT-OFF UNIT FOR OPERATOR

H EF U —&

HF series
e HF — 1US HF — RS HF —2US HF —2RS
185A T T AR i opih
W ‘bk Filled-up type Exposed type Filled-up type Exposed type
7 Type ﬁ ﬁ
Key-locked type
fE W A st R4 (EBS
Operating system Puling operation system
(& fF 77 &) (Fo U= US| EFEAFAIICEI<)
(Operation method) (Breaking the acrylic sheet and pulling the sliding door toward yourself)
' B A & BENFHEBRDOERY > J%5(<
Resetting method Pulling the reset ring of the automatic shut-off unit
2 oz amm 2 A (2a,1b)
2 Contact composition Built-in (2a, 1b)
»1;% T 5A AC 250V
9’—3 Contact capacity 5A, AC zsovrtl'resls;nce load)
1
ﬁﬂlgw%ﬁmﬁﬁi A—808 : EMY —242
shut-off_unit |
1
Rl 0.075~0.4kW : 0.75kW
1
W F 1. BHEAy IR EARy S RCEBEGELHUET,
2. FER[TIE. BPELEATEEHA.
Motes: 1. The exposed-type and Filled-up type boxes can be coated upon request.
2, This product can’t stop during in cperation.




HE)RHRBEINER

AUTOMATIC SHUT-OFF UNIT APPEARANCE VIEW

A-—808
FERBETA T —
Manual-operation wire
DA Y—F & -7 P
55

ﬁtcr wire harness

EMY—242

HERLA bO- 2 BER)

58,
FHRET A

B 2600 1

Y

Reset ring

\PF1/2F Tl
PF1/2 parallel screws¥

Manual operating

\d-¢10 1742

; fj o &
SS—— T — 1 : WAL b (o ehroia
adjustiment)
l - s (M53x18) s=0
% Adjusting bolt f S5=12.6kg
] (M5x18) ———
— E:ﬁ_ﬁ.fgﬁgniﬁ?‘i:@——
80 ET : E
it - / : £ 19 AJ— WiEAESEM
‘ Manufacturing date
code stamped
i' == £ 8200
ia?glﬁgs;rttire 100 135 9.5 1 | 300 from{?he main unit
i : 50
o — == 7] I
3 g = = FiELY
= e = | 97 500 from the main unit C)
l ’T!ﬂfﬁlﬁ '7’th1"_ / :‘Mam.lal—oncrai
i e anual-reset wire L
5 T 35 i _| l
g e 2 gy 1500 S
1500 from the main unit
A—921A(K)
FEL T A FR g UEybRALwF
Indication label fLimit switch
position otk | 372 50
12 | h‘. 274 _26

BB/ AK
Flame-proof type/
Explosion—proof solenoid

A Ee
i = DA =T 5 — iR

210.5

i PERNRD A — [Wire outer reinforcement

JRRAR A P —
Brake release wire |

i LF i o8 PP S iﬂDDrlﬂ\ .'Il
|74 7 —1500mn ]
P4 —&Ed1.5m !
Outer wire : 1000p

Wire ; 1500 1.5m dia.

M

CIRCUIT DIAGRAM

A—808 - EMY —242

i o
f‘,%nf?:;’l ﬁ Ye%w O (L
% ©

B R &

Power source

©

Blue

@
Pl

SOL: Vb /AR

Solenoid




ire

E &7PA $H 2 B BT X

AUTOMATIC SHUT-OFF UNIT SETUP VIEW

A—808

i EEEA L b (M5 18)

EMY—242

—m (oL
=
=] %

A—808

A—921A(K)

A-921AK)

EJ-_J_=Z| Adjusting bolt(M5 x 18)

Flo—fhr—2 1
(M8 x40) Mgl
Brake case Brake lever bolt{M8x40) adjusting serew s
-3 >
3 :

BEET Li—

Controlled descent lever

<r&
EMY—242 /

Fle—F lesi—ifil b

° ° -
[T “ l. L
[ 1
il |
Fl—F45—2
Brake case
S4B
solenoid
.D-——

128

—SFhidius R AEEHE F148 |k
Terminal box To interlock control pane!

o4 & — AR
Operator
TR TINT 4 uFd
Flexiible fitting

Pl

Brake release lever

U T i1

Reset ring Brake releasze wire

A—921A(K)

Power source

Confirm

(D)

—_— - T@

@ SOL: Yl /4F

@(D) Salenoid

@NO

@COM

[ dene T

—ZFNRy o R A-921AK)A

Terminal box A-921A(K) main unit




A2 0 i BA K

PACKAGE CONTENTS

® BEEFHEXE

Automatic shut-off unit

o = HelEbe S L
Model Package Qty

E ﬁ%%ﬁ%lﬁﬁgﬁ Automatic shut-off unit 1'&7 1 unit

57 4"(’-"7 'j'f;’_ﬂﬂﬁ'? \/ﬁ“/ Wire outer fixture Hﬁ] 1pc.

7 V"“”‘Fﬂ%ﬂ/ Hﬁﬁﬁﬁ?ﬁﬂ/ |"‘) M8 XL40 Brake bolt (Hex socket head cap bolt) M8xL40 HE] 1pc.

A‘SOS #?ﬁ%‘f}ﬁﬁﬁ y .\/ﬁ Ring for manual cperation H@ 1pc.

E%z U == j H%EU:PS-5 Press-fitting sleeve nominal P5.5 H@ 1pc.

FHEERIL b MBXL25 Adijusting bolt M5xL25 B 1o

Hlti&iﬁ.ﬂﬂﬁ Instruction Manual '[1;'.‘[; 1pc.

E ﬁﬁﬁﬁﬁﬁgﬂi Automatic shut-off unit ]Jlflk 1pc.

EMY'242 ’7’1’ *.'7—7 'j Q_HR'H-T :’7“’ Wire outer fixture H@ Tpe.
HR{T_HQL; M5 X 10 Lock screw M5xL10 4{@ 4pcs

BEPEEE A Automatic shut-off unit 18 1o

'7 ‘f 'V T 7 rj ﬁ _?ﬁgﬁ*ﬁ Wire outer reinforcement HE 1pc.

;L\ﬁ 7'1{}1/ |'“ M8 XL30 Hexagon head bolts M8xL30 4@ 4pcs

;‘(ﬁﬂ{ﬂ/ f‘ M8 Hexagon nuts M8 4@ 4pcs

2 fﬁ?‘ 2 SFEQ FEPU:S Spring washers, Plain washers nominal 8 %4{@ each 4 pcs

A 92 .[A(K) E%Z U "’7 @UP&S Press-fitting sleeve nominal P5.5 2{@ 2pes
ﬂﬁ% R2—4 Round terminal R2-4 12{@ 12pes

HK'H- f/_Jl/ Label 1*& Tipe.

74 JV_ BT 'j 57 _HR‘H'%EEE =) Wire outer installation label H‘& 1pe.

Hitﬁﬁﬁ,ﬂﬂﬁ Instruction Manual 1% 1pe.

® FHRAKRKE HFZU-X
Hand-operating shut-off unit
il = HHEER #H =2
Moded Package Qty

HF — 1 US $§i] F;ﬁ iﬁﬁ]ﬁl‘gﬁ Hand-operating shut-off unit 1 JE? 1 unit
HF e -IRS +$R‘ﬁ'nﬂﬂ”\$ :j M4 X 20 Cross-recessed head round machine screw MdxL20 4{ 4 pcs
IJHEE% @U‘l Angle washer nominal 4 41 4 pcs

HF e 2US ﬁ L/EE U *E Breaking sheet 2:& 2 pcs
HES2RS EnifsipgE Instruction Manual 188 1pc

X UELARDED., FERAROERETLLNHYET.

Specifications subject to change for product improvement without prior notice.

X FFFREER

184 BX#hERH

All right reserved. No part may be reproducted or transmitted without permission.

ISO9001, ISO14001 Certification

o2 e S P

BX Shinsei Seiki Co, Ltd.

2-17.12. 500 &)



